Parts List .«..x:

Epap Uk

Model: JC261DX IN—Y)ZFa—F 523612
JC261 DXL



HaTRODITHERIZDINT

1.

o 0 & 0N

MDD TEXDIEIE

wiEs (BX) - BARES - BBHREW - MEZTHEZEL,

INTEATIAS (X RI R DR TR E SRS,

MamlEwnd THRILFIESR ] Z23HERATIZEL,
AERRIFEBLEZLDEHYFET .
ABRREIBBEDAFELEERTLIENAHYET,

Fig. DFRRIZTDNT

ASARM—=UIZ Fig. XXSRBERRLTHYFET, <D XX [FAFAM—=D
ELORBLEZSERLFET .

=P s
JC261DX

L U S 1~2

JC261DXL

A N 7. NS 3~ 4

JC261DX, JC261DXL Ty

KN M2 Ly SUV) B2 S B O |V 5~38

LY = B 1V & e S 9 ~ 10
5 F¥TLA, ITVU—F. Ta—TIAUY e 11~ 14

JC261DX, JC261DXL
= 15 ~ 16






1. JC261DX

K




A:JC261DX, B:JC261DXL

BHES | HRES %8 & W . s B =
1-1 363986 | JC261DX 1
1-2 817002 | 6 hY& Lk (+)WSW 4 M5x20
1-3 096042 | 6 hY& L+ (+)WSW 1 M5x30
1-4 221473 | 979F5—A9348T 1 5~ 7794
1-5 221474 | 139Fh—2 1
1-6 016405 | A TYVY 1 #6200ZZ
1-7 013825 | C h™4rA7) 1 #30
1-8 222671 | 97YFNFLVbH 1
1-9 226399 | T UMV 9H348T 1
1-10 | 219435 | K9V Uh {hovbr 1
1-11 215532 | kv44=%") 1
1-12 | 054691 | WUhTH 49347 1 13 794
1-13 | 089738 | 6 Y& Wb (+ 77 1YL) 1 M5x15
1-14 | 215418 | nYNIWNYEHAFTI H34T 1 15 794
1-15 | 092561 |6 Hyk' b (+)SW 6 M5x25 77 Yk
1-16 | 228089 | ¥ ¥ —29347T 1 17 ~ 237414
1-17 | 234247 |6 HH& Wb 1 M8X8
1-18 | 092550 | 6 A& Vb (+)SW 1 M5x25-7T
1-19 | 212986 | NE/K'A A 1
1-20 | 219195 | AE/KAB 1
1-21 215610 | 6 hYf b WSW 1 M8x22 t4')
1-22 | 222128 | 3¥9¥K9ony 1
1-23 | 222129 |4YE"v%y” 1 5x20
1-24 | 089737 | 6 A9k b (+ 77°EYL) 1 M5x12
1-25 | 220549 | F194v-4 1
1-26 | 233871 | 2—=L7°L—} 1 JC261DX
1-27 | 231654 | NJT—Y 1 ECO
1-28 | 225749 | nUNILTPA 1 E4)
1-29 | 225751 | AnUN LT A 1 3
1-30 | 215584 | AMYT A(YF 1
1-31 222138 | A4YFhin - 1
1-32 | 232956 | MJh'434T (T16) 1
1-33 | 232966 | AOYMLLA'— (T16) 1
1-34 | 233461 | 7{¥IA 1 YWFr—7"1L 710X64
1-35 | 220533 | WA UR 34T 1
1-36 | 222821 | Y AAVAN—=H34T 1 37,38 744
1-37 | 212994 | A=V 2950ty 1
1-38 | 092561 | 6 h4# ILb (+)SW 2 M5x25 77" &Yk
1-39 | 224693 | F¥Y7Y— 10 1




2. JC261DXL
% NIZ




A:JC261DX, B:JC261DXL

BHES | HRES w8 & s ' B =

2-1 363987 | JC261DXL 1
2-2 817002 | 6 HY& Wb (+)WSW 4 | M5x20
2-3 096042 | 6 hH& L+ (+)WSW 1 | M5x30
2-4 221473 | 979F5—A9348T 1 |5~7794
2-5 221474 | 139Fh—2 1
2-6 016405 | A 7YYy 1 | #6200ZZ
2-7 013825 | C h'4kA7) 1 | #30
2-8 222671 | 97YFNFLIRH 1
2-9 226399 | T UMYV 9934T 1
2-10 | 219435 | K9V un'1hyvbs 1
2-11 211736 | Ky44=%") B 1

-12 | 211737 | UM \ 2

-13 | 232880 | ARYMLLN— 1
2-14 | 219394 | ZAYRILTAY 1 | 365L1/0 68
2-15 | 213548 | a5 —+F1-7" 1 | 3K 10 200L
2-16 | 054691 |YhToH347 1 |17 7294
2-17 | 089738 |6 h9#K Ik (+ 777 EY) 1 | M5x15
2-18 | 228089 | XY —R434T 1 (19 ~ 25794
2-19 | 234247 |6 ho# b 1 | M8X8
2-20 | 092550 |6 h9#K L+ (H)SW 1 | M5x25-7T
2-21 212986 | NE/K'A A 1
2-22 | 219195 | AE/H'AB 1
2-23 | 215610 | 6 h9& L WSW 1 | M8x22 t4™)
2-24 | 222128 | TEYEKRHIUNY 1
2-25 | 222129 | 49E'vay 1 | 5x20
2-26 | 089737 |6 hYiR Ik (+ 77 EYM) 1 | M5x12
2-27 | 220549 |F19(v-H 1
2-28 | 233875 | #—L7°L—} 1 | JC261DXL
2-29 | 231654 | n\Jv—=4H 1 |ECO
2-30 | 222059 | KIYUN-7 NINVIZET 1 131327494
2-31 126993 | 6 h9+ Y+ 4 | M5
2-32 | 222142 | +A2%Y (+)W 4 | M5x28
2-33 | 220533 | h&hHN UM 94T 1
2-34 | 222821 | Y AVAVAN-H34T 1 |35,36 794
2-35 | 212994 | AN=Vr 950t 1
2-36 | 092561 |6 f%F Lk (+)SW 2 | M5x25 77°€Yb
2-37 | 224693 | FY7Y— 10 1




3. JC261DX, JC261DXL T >y
DS —R, DYUE . aAdI)L




A:JC261DX, B:JC261DXL

BHES | HRES w8 & W A@ﬁ ' B =
3-1 859122 | IVY'Y 1 1 | CE260/20
3-2 283734 | YU 1 1
3-3 283783 | ALY 1 1
3-4 261250 | 6 BT +HYFHR Wb WSW 4 4 | M5x20
3-5 269144 | {1Uv1lL—4 1 1
3-6 267049 | B ANYR 1 1
3-7 269826 | TA1£Y (H)WSW 2 2 | M5x25WSW A4
3-8 288033 | v737tV7Y) 1 1 19~12744
3-9 282209 | ¥773v771)—-} 1 1
3-10 | 287254 | H"Ahwb 1 1
3-11 268171 | 74l 1 1

-12 | 265107 | 6 h97+9Y%750Y K ILb 2 2 | M4x10

-13 | 284071 | KA 1 1

3-14 | 283940 | h'Ahwb 1 1

3-15 | 266402 | 249Y1 2 2 | M5x55
3-16 | 281435 | 74 —hn'— 1 1

3-17 | 269827 | +A'1%Y (+)WSW 1 1

3-18 | 286707 | b7 hiN—T7tU7") 1 1 |19 ~ 22 794
3-19 | 281434 | b7 - 1 1

3-20 | 286300 |/7'YhA 1 1

3-21 261020 | AN —¥ 1 1

3-22 | 261734 | )b 1 1

3-23 | 289582 |H7UHh—A 1 1

3-24 | 280488 | ATYYY 2 2 | PPL 6001
3-25 | 261492 | A4LY—I 1 1

3-26 | 261386 | A4ILy—I 1 1

3-27 | 055185 | C f'4hAT 1 1 | 7713728
3-28 | 261612 | 6 HY7HYFH b WSW 3 3 | M5x30
3-29 | 281442 | 29—y 1 1

3-30 | 268247 | E'Aby 1 1

3-31 261496 | E'ArN YY" 2 2

3-32 | 261497 | E'AMUEY 1 1

3-33 | 261037 | ==FLATYUY 1 1

3-34 | 261576 | #=4yvy7’ 2 2

3-35 | 265197 | Y¥7hay77)—b 1 1

3-36 | 284786 | 439F7tY7Y 1 1 |37 ~39754
3-37 | 284702 | H439FFK A 1 1

3-38 | 284787 | H739Fva 2 2

3-39 | 286554 | A7YuY 2 2

3-40 | 288075 | A7YuY 1 1

3-41 284704 | 7YY 1 1 |5.1x14x1.2
3-42 | 285220 | A49Y1 1 1 | M5x10
3-43 | 281433 | 77N — 1 1

3-44 | 269831 | FA3%Y (+)WSW 4 4 | M5x20WSW
3-45 | 287897 | ¥y &b 7EYTY 1 1 |46 ~ 54 794




3.JC261DX, JC261DXL T >y
DS —R, DYUE ., aAdI)L




A:JC261DX, B:JC261DXL

BHES | HRES w8 & A‘m ' B =
3-46 | 287901 |mO-4%4 1 1
3-47 | 283705 | 49 =9Ava(NTEYTY 1 1 |48 ~ 54 794
3-48 | 283730 |34l 1 1
3-49 | 261072 | ¥Yyv7 1 1
3-50 | 283731 |F1-7 1 1
3-51 283732 | 1—-NT7tY7Y 1 1 |52 ~5479L
3-52 | 283733 |1-F 1 1
3-53 | 261075 | 799 1 1
3-54 | 261074 | 7°39°%%¥v7’ 1 1
3-55 | 261076 | nuF WE— 1 1
3-56 | 288074 | ¥7b 1 1
3-57 | 280381 | AA™—# 2 2
3-58 | 261256 |6 HYT7HYFH I WSW 2 2 | M4x25
3-59 | 286739 | AN=4973Y 1 1 | CJ6Y
3-60 | 261772 | Y-} 1 1 | 175t HCBH
3-61 268044 |- 1 1 | 135M4_CBH
3-62 | 269189 | ¥'OAvh 1 1
3-63 | 264588 |H7v7 1 1
3-64 | 269705 | 3N 1 1
3-65 | 269824 | 3A) 1 1




4.JC261DX, JC261DXL T2V
JaA JLRAR—A

17



A:JC261DX, B:JC261DXL

HaEs

B M &

Sk

wE &=

[ I [
SCOOO\ICD AR WN =

—_— ) — k)
OB WN —=

S~ L i e i e i

LA
~N o

283476
2834717
283504
283505
283506

280931
267213
283578
283579
261725

283511
283575
284698
283391
265726

282096
289174

YA RE-47 107"
RI=47+07")

Y=l

ALTL—
FYNRTSY

ANATNRT YUY
TYMRYYL
-77t,7"
A8—40-7
A4=4)7

O-72byn
R3=47 =7 tU7")
TR747€077)

A9

6 N97+VEH Wb WSW

911
58N

>

AN =

" " " " " " " " lve)

AN = =

Y

2~12794
3~ 11794

9~ 11794

M4x20
M4x16

M4x16
R 24—b /JC261DX




F¥ILAE, TT7V)—F. Ta—TILEVY

5.JC261DX, JC261DXL T PV




A:JC261DX, B:JC261DXL

BHES | HRES w8 & . s ' B =
5-1 276056 | ¥¥7°L47tU7) 1 1 |2~20794
5-2 264155 | KUK T4 1 1
5-3 262991 | N—=VK T4 1 1
5-4 262992 | kU7 hin— 1 1
5-5 261874 | 7'94% 1 1
5-6 283905 | 4°4¥77L 1 1
5-7 262993 | B ANYE 1 1
5-8 262994 | °4¥77L4 1 1
5-9 282576 | B ANYb 1 1
5-10 | 281487 | 'IYh 1 1
5-11 261871 | O Yuy 1 1
5-12 | 261876 | Y4’ 1 1
5-13 | 264678 | 7Yv% 1 1
5-14 | 261658 | A4 1 1
5-15 | 261875 | A49Y1 2 2
5-16 | 264677 | 7349 1 1
5-17 | 261657 | Ny 1 1
5-18 | 262996 | 249Y1 4 4
5-19 | 261878 | Wb 1 1
5-20 | 263994 | 249Y1 1 1
5-21 269762 | B ANYb 1 1
5-22 | 268055 | 4—A7tV7 1 1 |23~ 26794
5-23 | 268056 | 7—AkK T4 1 1
5-24 | 268057 | N7 1 1
5-25 | 268157 | &Al)—=7" 1 1 | 5.5x7.1x6
5-26 | 268412 | Al)-7 1 1 |5.2x7.1x6.4
5-27 | 263345 | Ny 1 1
5-28 | 263942 |3 h % 1 1
5-29 | 263815 | AF— 1 1
5-30 | 269834 | FAI%Y (+)WSW 2 2 | M5x60WSW
5-31 265026 | 29—y 1 1
5-32 | 265027 | ILAVH 1 1
5-33 | 268058 |AN-TtU7) 1 1 |34~ 36794
5-34 | 268059 |/—Fhn— 1 1
5-35 | 281438 | /7 1 1
5-36 | 261734 | 5')Y7°F A7 1 1
5-37 | 281749 | 497+t07") 1 1 |38~ 48744
5-38 | 281439 |71-I\4YY 1 1
5-39 | 281565 | 4v9%¥v7°7tY7Y 1 1 | 40794
5-40 | 269377 | YRy 1 1
5-41 282538 | 71—-IWNATTHUTY 1 1 |42 ~ 48 794
5-42 | 282539 | NATTEYT 1 1 |43 ~ 46 794
5-43 | 268065 | #'OAYh 1 1
5-44 | 261690 | #JY3AIN47’ 1 1 | 160L
5-45 | 261590 | 7°)—4#'47°434T 1 1

-12-




FyILAE, TT7V)—F. Ta—TILEVY

5.JC261DX, JC261DXL T >V




A:JC261DX, B:JC261DXL

RHES | HaES # 8 5 W . o

5-46 | 261117 |9Uv7" 1 1

5-47 | 264653 | 7AL4T U7 1 1

5-48 | 261117 |9Y97" 1 1

5-49 | 284042 | TAIRY (H)W 2 | 2 | M5X20

5-50 | 284043 | TAIRY (H)W 1 1 | M5X20

5-51 | 281441 | A4k 1 1

5-52 | 284579 | 3N 1 1 | F3-9 A 04

-14 -




6. JC261DX, JC261DXL
/&

-15-



A:JC261DX, B:JC261DXL

HaEs

B M &

Sk

>

o

& &

221460
220534
210418
219431
022865

233765

HI AN %
nhiv—
IVE R YIRANT
6 IR IANT
JAYFANT

MTIRLEY AT

AN 3
8x10

JC231/261/300DX

-16 -




22 LU EThH
BHERERED
Ay FE—- bt s2—: EE 0120-898-114
ZFIFIEHRY: AN9:00~PN5:00(+. B.#1H %% <)

Printed in japan 2013-04.J

EHENEETY



